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Internationally applicable social classification
(Indrayan’s social classification)

Education, income and occupation can be combined to devise a system of classification
of people into various socioeconomic classes. Social classification in the U.K. is based
only on occupation.

Suggested in Table 1 is a scoring system for the three components, and
classification on the basis of the aggregate score. The categories of schooling years and
of occupation are absolute in this table and can be probably used anywhere in the world
without alteration. But the income level in one country can seldom be compared with
that in another country except possibly in terms of the purchasing power parity. But
this is far too complex to calculate. Thus, a classification of income is on the basis of
percentile, which will be specific to the area. There will always be 20 percent of the
population below the 20th percentile and another 20 percent between the 20th and 40th
percentiles. Yet, the classification may be valid for comparing one subpopulation within
a country to another subpopulation and to some extent for international comparison
also. Such percentiles are generally available from the distribution of per capita income
of the nation.

A large number of common occupations is listed in Table 1 but certainly not all.
An indication of the score for other occupations not included in this table should be
available from the pattern.

The minimum possible aggregate is 0 and the maximum is 15. The
classification is given in the bottom of the Table 1. The percentage of the population in
different classes would give an indication of the social health of people. Many diseases
and other health conditions have been observed to be associated with such social
classification of the subjects.
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Table 1 Scoring for social classification

Score Years of schooling Incomen Occupation
0 Nil (illiterate) Below poverty lineb Unproductive or burden on
society (e.g., begging)
1 <5 <20t percentilec Unskilled labor
2 5-10 20th-40th percentile Skilled labor, artisan, small
business, student, small farmer,
soldier
3 10-15 including 40th-60th percentile Clerk, medium business, medium
vocational farmer, technician, salesperson
4 15+ but 60th-80th percentile Teacher, researcher, industrialist,
nonprofessional big farmer, big business,
nontechnical government officer, manager
5 15+ some of whichis  >80th percentile Executive, doctor, attorney,
professional or consultant, engineer
technical
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aIn case of a family, calculate per capita income in the family
b Income required to purchase low-cost balanced food to provide 2400 calories
< Excludes those that are below poverty line



